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W OfIHa OPraHM3aLVs, 3aHUMAIOLAsACH KAKOW-NINGO KOHKPETHOIM 06NacTbio ;
JEATENLHOCTY, HUKOrAA He U306pETaeT Kakne-nbo BaxHbIe pa3paboTky B STOU

)BIIACTU UMW HE BHeAPAET Kakue-nubo BaxHble pa3paboTku B aTol obnacTy 4o Tex rop,
| noka oHa He 6yaeT BhIHYXAEHa caenaTh 3T0 U3-3a BHELHEI koHKypeHuuu.." Oxford

| University Press. The Quarterly Journal of Economics , Feb., 1926, p. 262.

', ~ Battle of Britain
(3 month 3 weeks)
0.07-31.10.1940

Radar played a méjor role in the Battle of England

o Nyquist
-y W=Klogm

Where W is the speed of transmission of intelligence,
m is the number of current values,
and, K is a constant.

camHartley F = nlog s
(81:1888-1970)
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